Sortieralgorithmen

Losungen

Aufgabe 1
Selectionsort:
813|762 4] Vergleiche | Vertauschungen
213(7]6(8|4 5 1
213|716|814 4 1
213|4(6|8|7 3 1
213|4(6|8|7 2 1
213|4(6|7]8 1 1
15 5
Aufgabe 2
Selectionsort:
9135 |2|1]|4]8] Vergleiche | Vertauschungen
11315129418 6 1
112(513[9|4]8 5 1
1121359418 4 1
11213141958 3 1
11213[4(5|9]8 2 1
11234589 1 1
21 6
Aufgabe 3
Insertionsort:
813|7|6]| 2] 4] Vergleiche | Verschiebungen
31817]6(2|4 1 1
3(718]6(2|4 2 1
316[7]8(2|4 3 2
213678114 4 4
213|4(6|7]8 4 3
14 11
Aufgabe 4
Insertionsort:
31114|2]|7]9 ]| Vergleiche | Verschiebungen
11342 7]9 1 1
1131412719 1 0
11213141719 3 2
11213141719 1 0
11213141719 1 0
7 3

Ubungen



Aufgabe 5

Mergesort (iterativ):

71318159241
31715812914
31578112419
11213[4|5|7|8]9
Aufgabe 6
Mergesort (iterativ):
6/5/8[9[3[6[0|7|4]|2
516189360724
5/6[8[9]0(3[6[7|2|4
0/3|5(6[6|7[8[9|2|4
0/2|3[4]5]6[6|7|8|9
Aufgabe 7

Best Case | Worst Case
Insertionsort O(n) O(n?)

Mergesort O(nlogn) | O(nlogn)

Gnomesort O(n) O(n?)
Selectionsort O(n?) O(n?)
Aufgabe 8

Selectionsort liegt in O(n?)
T(50) = C - 502 = 0.1

T(500) = C - 500% = C' - (50 - 10)2 = C - 502 - 100 = 0.1s - 100 = 105

Aufgabe 9
Mergesort liegt in O(nlogn)
T(10%) = C - 10% - log, 10? = 15

T(10%) = C - 10* - log, 10* = C - 10* - 10* - 2 - log, 10°
=200-C -10%log, 10* = 200 - 1s = 200s



